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High Institute of Electronic Professions

Electronics Ii Date: 24/07/2007
Final Exam Time: 2 hrs

Answer the following questions:

Q1:
a- Using only 10 KQ resistors, design a first order BPF that has a BW of 10 kHz, Lower

cutoff frequency of 20kHz, and An=2.
b- Draw the frequency response of the designed filter.

Q2: ; S’L_ﬁKﬁ
For the circuit shown in fig.1, o Ji '+ :
draw the output if vi=5sinwt [V] Vi.__f‘-mﬁ*\ ~ i
when: \va
a- S;= Close, and S;= Open. Vl/
b- S;= Open, and S;= Close. : P 1 g\f

2
r_:-“"'___f\m
211{&
-+
Fig. 1
Q3:

For the operational amplifier circuit shown in fig. 2.
a- What is the function of the circuit?
b- If R=159Q, draw v, when the switch § at position 1, 2, and 3.
¢~ Draw v; if R=159KQ.
d- Draw v, if R=159Q, where Rq=1KQ, and Rp=5SKQ.

Good Luck
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Electronic Professions

Subject: Elect. Circuits (1T &g il g2
Departments: Control / Communications
Examiner: Dr. Mostafa Binaros Salem

Code: GE314 (3™ Semester)
Type of Exam: Final Total Marks: 40 pts
Duration: 9—11am Date: Saturday 14/04/0 &

**ddal S aldl (sl a8 A Aiadla aa b A (9) o6 caal®*

Q.no.1 Derive the output voltage V,,, for the op-

amp circuit shown in figure (1).
1K

(7pts)

1K

R1
1K

— ANy
V2 Ro

Figure (1)

V1

Q.nc.2 Calculate the cut-off frequency £, of a
irst-order low pass filter (LPF) for R=1.2 KQ and

49k
1k R2
|,’h\AM N
R1 Vi ﬁ“ '—DVQUI
+ i
Figure (4) '

Q.no.7 Derive the input-output relationship for
the circuit shown in figure (5. (6pts)

—{ 1Vout

Vin 4

C=0.0214F.

(Bpts)

Q.n0.3 Determine the gain for the op-amp circuit

shown in figure (2).

(3pts)

IC

Figure (5)

6.8k

Vin=6vV —

Figure (2)

0.4 Calculate the capacitor value required to
design a Wien-Bridge oscillator to operate at
Jo=10kHz with resistive value R being 100K Q.

(3pts)

Q.n0.8 Define the Op-amp circuit shown in figure
(6) and write the equation of its output.  (Spts)

RI = .
V2 :
V3D R3 I __E"' - '—‘DVoui

Figure (6)
Q.n0.9 Calculate the offset voltage for an op-amp
circuit with the following parameters an input
offset current being 10nA and feedback resistance
of 50KQ. (3pts)

Q.n0.5 Determine the voltage V, for the op-amp
circuit shown in figure (3). (3pts)

Voult

Figure (3)

Q.10.6 For the circuit shown in figure (4), find
SR of the op-amp such that it can pass the input
signal Vi(t)=0.05sin(1.25x10°t) without distortion.

(7ts)

Good Luck

Q.n0.10 Show that the Vou for the op-amp circuit
shown in figure (7) is equal to 5V.
1K

(3pts)

Figure (7)
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Je B8 Bl g Lilal puiag 5 g s pa Lgdany oo sy
o
Pagel/1




ﬂ T !
! MJUO—‘?{///J///_MU/H o e

|

. t — = oy = 4 7
(D005 1 - T gy
f N 7 o - J ]
//‘uéﬁj/ /) 5*_/‘_—gr @ |
b[ //!;: sS4l - /‘V\/\/L/ /\/v/‘

rr—'/L J%’/» VW.
,;,(/;,ﬂﬁfU(),D»)q/‘)L:; 2
et w/z
& (z)jef’_‘JL cd»ﬂ;l
o2 Ayl )(*’Q /Qq,/ '*fft'{,.C]/-‘:).
R R Jf?,(f?/'// |

(OML " o iwman =
| (S ousted )y 5‘6? T Vad= 114, z/vyf *(3)._7_.
&ﬁ'/% 9 Ve Cr)/%“,f(a)jz/‘/’uﬂ,ﬂ//ﬁ\& u.myw 1] f (/c, o

- fT/\ oo, R
| ) ;

S

(e
So
Se i(./L_ £ ¥

}fwj’/rﬁ/b(v‘b '”/&ﬁ""/o/vb/ )l(b))r:f”/'bcu\,ﬂ,i, c;]»)y,vv A
o e T r»)’»ﬂyo S\ D) o Voptblg (i)

O« HLHL

: C‘vwv = ’)’J‘C\_—,y’/,;[\p

.‘%.3;\,’\/'] :V:: e | Y S L Uol BuLaqu)JV,éj" C/lé) Cl——--“i)-> Lo
OV I xdi 2 /»w e BEA e, fpteicp)
£ iE. 7Y J}Jdgz 3% 1,3¢2 \pad (/Ji Q,v\/) QJP/L‘MJ/\:I
s | :

. ) /}/jL'//A“/\)‘\Va/"F 'bl('ﬂz % »,klﬁ C\J(BM\JE\S,()MV ,’U Z;Lr
‘);,/ [Cv fw ///f/{,(\m S&%b@y/) ,JL/LQ’O)( M( L%ob
,\,MJ é)/ﬂa/ﬁt B \/Jf-‘rﬁ@) = b Sl ol ik

’“l

_,\\,,\

k,;/

o]
,‘\‘? ’

j ok

\ LN

{
7Y

Y i t\/s\,\m)"//(’r (5))‘) Z ,d\i'/v ) /,,,5 Ve M%/g,ﬂ}k
= Lkt Vfﬁ”"w o, @), e s, r”/mm
S oter £ i jekien
‘:7_)./“‘;;"("%) {”é‘s ‘-//\/)V @vvt /"V wp L&,S C\z/v _) Q\/JLS,‘/ )’/Z
R gl oz :

4o,



gubilyh - dyigyialyl dyidill a4 alilaio] dliwd

Alac

gubiph - drigpialy

Q

| go Joell

duidill a4 dilh alAadl
| gggull pwd go gleilly

Aclug palw gol padillg JAmll Jag

Joell [Aa alail olc

dg puall ole ATVl dran

https://www.facebook.com/E.T.studentunion



	0إلكترونية 2
	Scan3
	Scan30001
	Scan30002
	Scan30003
	Scan30004
	Scan30005
	Scan30006
	Scan30007
	Scan30008
	Scan30009
	Scan30010
	Scan30011
	Scan30012
	Scan30013
	Scan30014
	Scan30015
	Scan30016
	Scan30017
	Scan30018
	النهاية

